hegibau

Bahnweg 41

=

41-3.9
KELLER 5
BF 8.53m?

41-2.8
KELLER 3
BF 8.09 m?

4115
KELLER 1
BF 8.09 m?

41-2.6
KELLER 2
BF 8.09 m?

41-0.2
KELLER 4
BF 8.09 m?

41-0.1
KELLER 6
BF 8.16 m?

GANG
BF 17.93 m?

41-3.11
KELLER 7

BF 8.55m?

3. Obergeschoss | 41-3.11 | 41-3.10 | 41-3.9

I 2. Obergeschoss | 41-2.8 41-27 | 41-26

41-1.4
KELLER 9
BF 7.37m?

41-2.7
KELLER 10
BF  7.34m?

TROCKNEN 1 TROCKNEN 2

e 737 m2 = 737 1. Obergeschoss | 41-15 | 41-14 | 41-13

Erdgeschoss 41-02 41-01
Untergeschoss
GANG N
| BF 12.46 m?
| 41-3.10 4113
| TECHNIK WASSERV. BASTELN 1 KELLER 11 KELLER 8
BF 20.08 m? BF 6.31m? BF 13.13m?2 BF  7.35m? BF 7.81m?2
|
: Untergeschoss
L
0 1 2 & 4 5 6
Massstab 1:100

Cannves 8



